(@) 1984 @) 432 GD s.82 @.) 4) 648 Gr 4 p. 20

+1984 - 25 x 19
(5.) Estimate the answer: 98 + 36 + 45 =
Write the number marked by N

the dot. 1 2 3 4 5
DAY 98 '
3048 (2D 9431 (3D 610 .Q 12) 108

+4497 - 435 x 43
<i:> Write > or < in the spaces provided:
a. 36 38 b. 42" 31 c. 127 226 d. 98 189 e 46 13
@E)What number is marked? L ‘7| L L L1

: 1 2 3 4

DAY 99
1) 2765 @) 5643 3. s4.82 2 $2.86

+ 308 -3326 X 60

(::) You have 30 comic books. Each costs 52¢ . You buy 15
more comic books. How many comic books altogether?
Write the number represented Lt r1 |#] |
by the dot. 1 2 3 4

Day 100

2/5 + 1/5 = @) 3/7-2/7= €D 342
X

(:) If it is now 10 o’clock, what time will it b

Use <, >, or = 63.491 62
DAY 101 —

16 ) 81

e in three hours?

491

x 1

@ e +3m= (@) 2s-15- () s62

0 (4.) s8+8 =

5

If you have sixty eight marbles
how many will you have left?

DAY 102 81+_—=9

and lose thirteen,

N

@) 4/8 + 3/8 = (2) 317 -17=- G ss.

X

e
004.—60+10 =
32

Four boys worked and earned eight dollars.

paidz o & = 78

DAY 103

- How much will each boy be




